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spreadsheet obtain the Subtotals ofthe Sales year
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AGE MOBILE NO. SALESYEAR

9821023012 4500020LOSALIM
3000027 3456789215ANANT 201.1

9B*567321.2 55000 t2011.
400008A76543939AANA 20L0
200008976765645RAINI 2010
25000s456677678201L
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profit

Write the steps to obtain
r) HRA as 45Vo of the
ii) DA as

iii)
tv)
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Pivot table
F1.

G)
ina

whichever is less in column C

whichever is more in column D.
E.

DA+
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A B D F
3. NAME BASIC DA :PF
2 ADIL 40000 -r

DARSHA 25000 .\'',
4 I{AFlZA 60000 (i\
5 KA'OL 75000
6 SACHIN 34000 \(


